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ENGLISH

(Q Nos. 1-5) in the following questions four alternatives are given for the idiom / phrase choose

the alternative, which best expresses the idiom / phrase.

7

The minister’s speech was comprehensive and was greatly appreciated.

(A) Understandable (B) Covering all aspects
(C) Praise worthy (D) Full of fine words
The worse for wear.

(A) Worn out (B) Improbable

(C) Frightening (D) Faroff

Cloak and dagger -

(A) Fond of hunting (B) Involving intrigue

(C) Family feud (D) Tobecome very weak
The eyéwitnesses testimony was incontrovertible.

(A) Debatable (B) Unquestionable

(C) Disputable ' (D) Unacceptable

Abread and butter letter.

(A) An appointment letter

(B) Arequest to get donation for a noble care
(C) A contracttermination letter

(D) A letter to thanks a host

Fill in the blanks with correct options.

6.

Hindiis ........... language of the people of India.

(A) a (B) an

(C) the (D) No article required
He resembles ............ his father.

(A) to (B) with

(C) for (D) No preposition required
Hedeals ............ Indian goods only.

(A) with (B) in

(C) for (D) to

We are accountable ............ god for our actions.

(A) for (B) by

(C) at (D) to
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10. Choosethe correct passive Voice from the choice given

The people will made him King.
(A) Hewillbe made king (B) He will be made king from the people

(C) Hewillbe made king by the people (D) He would be made king by the people

Fill in the correct verb to make a complete meaningful sentence.

11. He............ the slave of low desires.

(A) becomes (B) became

(C) become (D) becoming
12. Everydayofthe last week my aunt............ aplate.

(A) breaks ' (B) broke

(C) was breaking (D) has broken
13. Did you think, YOU ......ocooeee me some where before.

(A) haveseen (B) hadseen

(C) were seeing (D) saw

Choose the synonym of the following words.

14. Hesitate
(A) Resolve (B) Determine
(C) Pause (D) Settle
15. Consciousness
(A) Vision (B) Understanding
(C) Nothingness (D) Awareness
16. Caliber
(A) Carrier (B) Capacity
(C) Calmness (D) Crowd
17. Persuade
(A) Deter (B) Hinder
(C) Wax (D) Restrain
18. Wander
(A) Race (B) Wrestle
(C) Gallop (D) Roam
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Choose the antonym of the following words.

19. Virtue
(A) Fool (B) Vice
(C) Untrue (D) Defeat
20. Evasive
(A) Categorical (B) Indefinite
(C) Explicit (D) Unclear
21. Relentless
(A) Gentle (B) Sensitive
(C) Yielding (D) Kind
22. Foe
(A) Friend (B) Enemy
(C) Foul (D) Fall
23. Reckless
(A) Weak (B) Careful
(C) Careless (D)  Unlucky
24. Hostility
(A) Enmity (B) Friendship
(C) Partnership (D) Relationship
25. Eminent
(A) Famous (B) Sad
(C) Imminent (D) Unknown
Choose the most appropriate alternative and fill in the blanks.
f 26. Donotlook............. onwomen.
1 (A) Up (B) Down
' (C) right (D) left
" him on this point.
| (A) agreeto (B) agreeing with
’ | (C) agreed with (D) admittedto
’ | 28. Thestranger.............. in through the window last night.
| (A) Creeps (B) Creep
(C) Crept (D) Creeping
29. N .. living here since 2000.
(A) are still (B) havebeen
(C) are (D) willbe
30. Thespecialist.............. you want to meet is available only on Thursday.
(A) which (B) whom |
(C) whose (D) who ’
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Read the following passage carefully and answer the given Questions.

One of the most serious problems confronting our countrs} is that of a fast growing
population. Infact, itis atthe root of many other problems. At the moment, thanks to planning, we
are able to produce food and cloth sufficient for one people and even insome excess. Butifthe
population continues to grow at this rate, it will not be long before the surplus turns into abare
minimum and even a deficit. The position in regard to accommodation is even now far from
satisfactory in spite of our efforts.

31. ltisatthe root of many other problems means that:
(A) itis found along with many other problems.
(B) itis caused by many other problems.
(C) itgives rise to many other problems.
(D) itis buried under many other problems.
32. Thepresent satisfactory position in regard to food and cloth is due to:
(A) The factthatthe population has been controlled.
(B) Our good luck.

(C) Good rainfall.

(D) Our economic planning.

33, Ifthe population of India continues to increase at this rate, the situation in regard to food
and cloth

(A) is likely to remain the same.
(B) is likely to become less satisfactory.
(C) is likely to improve.

(D) is likely to vary up and down.

34. The situation in respect of accommodation:
(A) isless than satisfactory
(B) isquite satisfactory.

©) is improving rapidly. o2

(D) isthe result of total neglect. : e




35.

At present, Indians have :

(A) more provision for cloth than accommodation.
(B) more provision for accommodation than cloth'.
(C) abundance of cloth and accommodation.

(D) scarcity of cloth and accommodation.

Directions : (Que. Nos. 36-40) in the following questions, a sentence or part of sentence is

underlined, which may improve the sentence. Choose the correct alternative in case no

improvement is needed your answer is (D).

36.

37

38.

39,

40.

Some passengers were flown to Paris on the last trip.
(A) fled (B) flew
(C) flied ' (D) Noimprovement

Fifty miles are a long distance to walk.

(A) is (B) be
(C) become (D) Noimprovement

Basu asked his friend, “Where you went yesterday™?

(A) Where you had gone yesterday.

(B) Where did you go yesterday.
(C) Where you did go yesterday.

(D) Noimprovement.

| have still to meet a person, who is perfectly satisfied with his job.

(A) am still to meet. (B) amyettomeet.

(C) might still meet. (D) Noimprovement.

There is no alternate, so we must leave now.

(A) altering (B) alternation

(C) alternative (D) Noimprovement.
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One word substitution.

41.

42.

43.

44,

45.

46.

47.

48.

49.

50.

One who studies the pattern of voting in election is called.

(A) Psephologist

(C) Anthropologist

Government run by officials is called.
(A) Democracy

(C) Gerontocracy

Murder of one’s children is called.
(A) Foeticide

(C) Fratricide

Absence of the government is called.
(A) Anarchy

(C) Autocracy

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

Cartographer

Lexicographer

Bureaucracy

Ketistocracy

Filicide

Homicide

Aristocracy

Autonomy

Government run by inexperience pe rson is called.

(A) Anarchy

(C) Neocracy

A gigantic statue.

(A) Marvel

(C) Effigy

One who hates women
(A) Dipsomaniac

(C) Misogamist

A cure for all diseases.
(A) Antiseptic

(C) Panacea

A messenger sent in great haste.
(A) Successor

(C) Chauffeur

A fictitious name assumed by the author
(A) Pseudonym

(C) Sobriquet

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
D)

(B)

(D)

Oligarchy

Ochlocracy

Kirk

Colossus

Misogynist

Accomplice

Antidote
Antibiotic

Courier

Emissary

Acronym

Pen name

Set-C



51.

52.

53.

55.

GENERAL KNOWLEDGE

qH &M
What does IDS stand for?
(A) Income Declaration Scheme (B) Informal Declaration of Resources
(C) Identified Disclosure Scheme (D) None of the above
.8 .0E & P R e
(A) 3T Teaeiees @M (B) Fhide feaiem o6 T
(C) oTERfemEs RueioR Tom (D) g A T
In which of the following states English is official Language?
(A) Goa (B) Kerala
(C) Nagaland (D) Tripura
P Todr & ofieh b o0 @ o A R 7
(A) T (B) @
. (C) maATE (D) By
Which of the following is used as modulator in nuclear reactor?
(A) Thorium (B) Graphite
(C) Radium (D) Pine
Preferfae & & Rel qeem] Rl § qered & =9 & s R o @ 7
(A) i (B) AT
(C) Yeam (D) =1
Yeast is used in the production of -
(A) Sugar : (B) Alcohol
(C) Hydrochloric acid (D) Oxygen
dree (@) Fred St § I 3
(A) R ' (B) =
(C) EESIaAD 3T (D) SR
A common preservative used in jam and pickles is -
(A) Sodium benzoate (B) HCI
(C) Sodium chloride (D) Coppersulphate
AW qREE o B S @ erer & wam R o R 7
(A) Bfeaw Sie (B) EERIEING =
(C) % (D) FHR FHe
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56.

57.

58.

59.

60.

The head of match stick contains the following chemicals -

(A) Antimony Trisulphate ) . (B) Potassium chlorate
(C) BothA&B (D) Red phosphorus
mﬁﬂaﬁm%mﬂﬁﬂwmﬁ?ﬁmm%?

(A) e FEERE ®) O Fe

(C) 2t A 3B (D) T BRI

Which of the following is renewable energy source?

(A) Coal (B) Wind

(C) Gasoline (D) oil

A & Toft AR 7

(A) I (B) &

(C) A (D)

One light year is equal to -

(A) 9.46%10'0km (B)  9.46%10'>km

(C) 9.46%10'* km (D) 9.46%10'° km

e T ad B & e © -

(A) 9.46%10'0 60 IO (B) 9.46%10'2 {0 HO
(C) 9.46%10" 0 Hi0 (D) 9.46%10% fs0 #HI0

Which Country will host 201 9 world cup for cricket?

(A) England (B) Australia

(C) New Zealand (D) South Africa

2o1gﬂm%ﬁﬁmwmﬂﬂﬂm%ﬂmw%?

(A) TS (B) SN

(C) oieoE (D) &R ITEE

In which province is Pakistan's Gwadar port located?

(A) Sindh (B) Baluchistan

(C) Lahore (D) None of these

X SeTE iR @ e i 7 ¥

(A) fag (B) eI

(C) TR (D) T A B T
10

_e ‘
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62.

63.

65.

In Junior Hockey World Cup 2016 held in Lucknow, India defeated which country in finals?
(A) Belgium (B) Australia

(C) Germany (D) Pakistan

2016 v 2 g 9 R ST TETS (3osto) 3 fm T, A 7 A A B
A B A 7

(A) S (B) SR

(C) Sl (D) IfehEI

What is a joint project of NASA and ISRO?

T (NASA) 3 380 (ISRO) % T RASHT B A 7 7

(A) NISAR : (B) RISAT

(C) SARNI (D) NAISR

World Bank is also called -

(A) International Finance Bank

(B) International Bank for Reconstruction and Development

(C) World's Central Bank

(D) Inter-Governmental Bank

R 5% @ T @ Fo 8 -

(A) TR TS 96

(B) TR % B TbEaT T8 AT

(C) Ty &

(D) TR &

India won its Historic 500th cricket test match by 197 runs. India defeated which country

in the test match?
(A) Australia d¥ (B) New Zealand
(C) SrilLanka (D) England

wﬁmseoﬁmﬁﬁ%&r?}aw7ﬁ@raﬂm e s C i oo
Rl

(A) ST ‘_ (B) e

(C) Herhr | (D) ¥

Article-370 of the constitution is applicable to the state of -

(A) Nagaland (B) Mizoram

(C) Manipur (D) Jammu & Kashmir
s @ ar-370 B T F @ R

(A) TS B) FerA

(C) wPTgT (D) F-HHR

1 Set-C




66.

67.

68.

69.

70.

Who was the first Indian born Basketball player to get selected in National Basketball
Association (NBA)? ,

(A) Satnam Singh Bhamara (B) Balbir Chauhan

(C) Balbir Singh (D) Ramesh Rathode

mw%@mw#%ﬁ%mmﬁmmﬁmmm
fpar T B

(A) T e asT (B) FWAR =N

(C) TR e (D) T T

Who has been appointed as the new chief of Air staff i.e. Air Chief Marshal of India?
(A) Arup Shaha (B) Birender Singh Dhanoa
(C) Bipan Rawat (D) Praveen Bakshi

e B R g Ao B E |

(A) ST e (B) dit= Rie awisn

(C) faft & (D) AT SR

2020 Olympics will be held at

(A) Tokyo (B) London

(C) Riode Janerio (D) Beijing

2020 # Siees aa Hel e ?

(A) A (B) e

) Ra & SRS (D) SR

Name the book which keeps the records of all the endangered animals and plants?
(A) Red Data Book (B) GreenData Book

(C) Blue Data Book , (D) Yellow Data Book
ﬁﬂﬂﬁmaﬁ%,mﬁgﬁmwﬁawﬂanﬂ%?
(A) @ e R @) =0 3T e

(C) et 1 fepae (D) e 3 e

World AIDS day is celebrated on

(A) December 3 (B) December 1

(C) December 10 (D) December 24

Rigg & wgw Rew & w7 S g7

(A) fem=R 3 (B) RE=T 1

(C) =T 10 : (D) RE=T 24

12 : Set-C
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72.

73.

74,

India and which nation signed an MOU for water partnership to clean Indﬁian rivers? -

(A) The USA (B) T'he UK

(C) The EU : (D) The UAE

aRA 7 5 o 39 & S WY ARA B O B A B B ol T B /g
g 7?

(A) goTHolo (B) Yoo

(C) oo ' (D) YoUoio

Reliance Jio has created a world record by passing how many million subscribers mark
in September 20167?

(A) 14 (B) 15

(C) 16 ' (D) 16.5

Rema=q R 3 e fifes (1 fwee-10wme) Fafia a2 s BB s @ faea
Fife fa=w 2016 7 ) B 7

(A) 14 : (B) 15

(C) 16 (D) 165

What is the name of India’s latest communication satellite launched successfully in Octo-
ber 20167

(A) GSAT-19 (B) GSAT-18
(C) GSAT-17 - (D) GSAT-16
ARG & SMYP HAR AR IWE FH AW aqd o b FFE 2016 H Sow T4

(A) St ¥e-19 - (B) it 9218

(C) ot ®e-17 (D) St ¥e-16

Who is the Chairperson (CMD) of State Bank of India?

(A) RashmiBhattacharya (B) Poonam Ghosh
(C) Arundhati Bhattacharya (D) Chanda Kochar
R 3% oI s & oy H T T ?

(A) T weerEm (B) W Ay

(C) Ty Heramdl (D) =T BT
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5.

76.

71,

78.

79.

China has placed a Technical hold on the move of India to get which Pakistani terror

group's chief designated as a terrorist?

(A) JeM (Jaish—e-Mohammad) (B) Hijbul Mujahideen

(C) Indian Mujahideen (D) LeT (Lashkar—a—Taiba)
wﬁmmﬁmw%mﬁm@mm%mmqmﬁ
b T © 7

(A) HE-T- T @) feorge FoAfeEar

(C) e TR (D) BT

Hamas is a militant organization fighting against which of the following countries?
(A) Sudan (B) lsrael

(C) Brazil (D) Syria

<o A T o 3w % e @ g7

(A) T (B) U

(C) S (D) A

What is total length of coast line of India?
waﬁagz%wwﬁar&ﬁ@mﬁmﬁw%?

(A) 15,200 km (B) 14,200 km

(C) 16,200 km (D) 17,200 km
Which of the following fuels has the highest calorific value?

(A) Hydrogen - (B) LPG

(©) Petrol (D) Coal
Wﬂ%ﬁﬂ%%ﬁmaﬁﬁmw%?

(A) FERSH _ B) g YgeEE
(C) W ' (D)

The pores in the bread is due to gas bubbles of -

(A) Oxygen (B) Carbon dioxide
(C) Nitrogen dioxide (D) Coal -

5 (28) ¥ Gr-9% % P Y % IO A A& -

(A) ST (B) e SEIEwES
(C) TERoH STETES (D) T
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80.

81.

82.

83.

84.

Cuban leader Fidel Castro died on Nov 25, 2016.Which positions were held by Castro?
(A) Prime Minister (B) President

(C) Secretary of Communist Party (D) All of the above

7 B X1 R e 1 L@ A= 2016 F g o R @@ @ ' T
FEAR T -

(A) S (B) Wk

(C) Fgfre Tél & AR (D) FW F &
Which of the following diseases generally caused by smog (Smoke+fog)?
(A) Asthma (B) Heartattack

(C) Brain disorder (D) Malaria

P 3§ § TR W B & A g A e F A F 7
(A) & B) fa # A

(C) ARa=h faehr (D) =Rl

Rubber s -

(A) Conductor (B) Insulator

(C) Both conductor and insulator (D)' None of these.

@E T ¢© -

(A) Hares/garas (B) fedaE®

(C) Tares g fawaes & (D) HE At TE
Naphthalene balls used to repel moth and insect is derived from-

(A) Alcohol (B) Sugar

(C) Coaltar (D) LPG

Rt < AR B 3 FE A q T B W F ond ¥, 7w A B § A A 7
(A) Tped /HEiE (B) i

(C) =HigaT (D) T Ugicrad 9
Who is the Governor of Uttar Pradesh?

(A) Kiran Bedi (B) Ram Naik

(C) Tajinder Singh (D) Sheela Dixit

ITR RY B TUIE B & :

(A) B (B) T AH

(C) =X {8 (D) e e

15 Set-C




85.

86.

87.

88.

89.

Which of the following one is called as basic unit of life?

(A) Organ (B) Tissue
(C) Cell (D) DNA
Prfofaa & & oftaw @t g 398 &9 @R 7

(A) (B) %

(C) Stra=i® (D) 210TA0T0
“Life is Good” is associated with which brand?

(A) Tata (B) LG

(C) Sony (D) Videocon
‘AT 351 7 e A § wEie B 7

(A) - (B) T M
(C) am (D) fafEddE

Who has been appointed as the note printing press chief under initiative to execute de-
monetization plan well? ‘

(A) Praveen Garg (B) Amitabh Kant

(C) SushilChandra (D) None of these

e ggor B B g 3 = A P i @ Frgf B T B, At R Ao A we
7 freres or® @S A R S gl

(A) ST T (B) SifHaE
(C) g == (D) HE ff &
Who is the first women captain in Indian Merchant navy?

(A) Radhika Singh (B) Radhika Mehta
(C) RadhikaArora (D) Radhika Menon
IR e W4l B g Hedr FA A & 7

(A) Wit Rie (B) it A

(C) e S (D) TRH HFA

The Indian Railways has developed an advanced system to reduce train accidents. What
is it called?

(A) Tri-Netra (B) Ek-lavya

(C) Tri-Jyoti (D) Tri-shakti

W X A B S ol B R B, S B Xaemel geeielt @ W el § 7
(A) B (B) B

(C) Brardt (D) FrafE

16 Set-C




90.

o1.

92.

93.

94.

95.

Galvanized Iron sheet have coating of

(A) Tin (B) Lead

(C) Zinc (D) Chromium

Rt 0 & Al A B B W g § FhE @ q R A ® 7

A) = (B) =

(SREE (D) HfHEH

An ECG shows the functioning of the -

(A) Brain (B) Heart

(C) Lungs (D) Kidneys

g, e gomeh R © ?

(A) HREEH B) R«

(C) ®s 0) T

Who among the following won Silver Medal for India in 2016 Olympics, in Badminton?
(A) PV Sindhu (B) Saina Nehwal

(C) Joshna Chinappa (D) SaniaMirza

B Yefrer faardt 3 2016 Sy Sat § 9RG & ¥ 900 4o S ?
(A) dodio Ty (B) aI¥E e

(C) SgT feme (D) v Frsi

Which is world’s Fastest Super Computer?

(A) Sunway Taihulight (B) Tianhe-2

(C) Titan (D) Cori

HER N qEY A1 YW FGE B A 8 7

(A) T TTEEE (B) TRME-2

(C) =g (D)

\Which destroyer ship was commissioned into Indian Navy on November 21, 20167
(A) INS-Kolkata (B) INS-Mumbai

(C) INS-Chennai (D) INS-Chankya

P A AT T TS WA AR § 21 FER, 2016 B FHG GO 7
(A) TS O .TH-Hictebal (B) OTR.UH.UH-J

(C) 3T .TH-RR (D) T O .CH- =TT
Diabetes (Sugar disease) is due to the absence of the following hormone -
(A) Insulin (B) Adrenalin

(C) Testosterone (D) Amylase

qyiE & I Frerad SN @ oTgaafa & HReT 8 § 7

(A) TgRE (B) gt

(C) TR (D) (TR H I F e e Ger)

17 Set-C
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96.

a7.

98.

99.

100.

Which of the following one is damaged by CFC (Chloro - Flouro-Carbons)?

(A) Glass (B) Soil

(C) Water : (D) Ozone layer

e A A A @ T A, (FR-R-wER) A & S
(A) s ® fredt

(C) T (D) oA T

‘Not my president’ is a campaign against which newly elected candidate?
(A) Hillary Clinton (B) Barack Obama

(C) Donald J. Trump (D) None of the above
“ﬁnu@%ﬁ”%mﬁmﬁaﬁawﬂ@ﬂ%mww?

(A) feaidl faest (B) W =Ml

(C) 3riIeE 59 (D) T q %8 T

India’s first banking robot made its debut in Chennai. What s it called?

(A) Saraswati (B) Durga

(C) Lakshmi (D) Kali
wﬁﬁﬁaw%ﬁﬁﬂﬁzﬁmﬁwqﬁw%ﬂéﬁﬂ,mmm%?
(A) TTERi ®)

(C) T (D) e

Teen golfing sensation Aditi Ashok became the first Indian woman to win which ladies
European Tour?

(A) Hero Women's Indian open (B) Hero Ladies Indian open

(C) Hero Female Indian open (D) Hero Indian Women open

wﬁmqﬁwwwmm%%ﬁﬁmwﬂmmﬁwa?
(A) A A 3PETA SH (B) &R IS =T A

(C) &R B FPTAT SAH (D) & ghea d S

Cyrus Mistry has been removed as chairman of -

(A) Tata Sons (B) Tata Global Beverages
(C) TCS (Tata Consultancy Services) (D) Allof the above

Tt el B B oty & & EIE W ?
(A) T T ' (B) < AEH W
(C) TR Froes afad (D) |

18 Set-C
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101.

102.

103.

104.

105.

106.

MATHEMATICS / INTELLIGENCE TEST
e/ g e

When interest is compounded quarterly, we divide the rate by

o = YafE w7 @ GAnE B TR A g W # eihE w1 g

(A) 4 (B) 2

(€)1 (D) 3

The cube of a negative number is

(A) always positive (B) always negative
(C) may be positive or negative (D) none ofthese

HOTHS &l W 9

(A) 9T g-THSD (B) € FOHS
(C) &FH® a1 RN (D) T q HI3 &
The unit digit of the cube of 3 is :

3 % T P T o

(A) 9 B) 6

(C) 7 (D) 3

If the time now is 2:17 P.M., what will be the time 11 hours and .59 minutes from now?

o T o1 217 PM. B, @ o1@ § &% 1 wve 59 e & uvam Fee T 8
(A) 02:17 AM. | (B) 11:57AM.
(C) 09:59AM. (D) 02:16AM.

The product of 2 and its reciprocal is

2 IR I TRERS W TN -

(A) 1 B) 2

(C) 0 (D) 4

The edges of three faces of a cuboid meet at a point which is called
(A) edge (B) vertex

(C) face (D) none of these

§IN % S Gahl B A B e B (O B Fed e

(A) B (B) o

(C) (D) FTH & BE T
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107.

108.

109.

110.

111

112.

113.

One is called -

(A) |dentity element of multiplication (B) Identity element of addition
(C) Identity element of subtraction (D) None ofthese

T @ FE &

(A) TH F D T (B) AT W AeEHD I
(C) ¥ed H Teqh HATT (D) T A BE T

A polygon with 8 sides is called.

(A) octagon (B) hexagon

(C) heptagon (D) polygon

g G & T H Bed &

(A) ST (B) T

(C) T (D) =R

(x=1/4) =7/4, then the value of x is
aR (x—1/4) =7/4, W x T T (S

(A)3 B) 2
(€5 (D) 4
(x+1) (x-1)=0'is ?

(A) x=1 (B) x=4
(C) x2=2 (D) x*=0

The Square of 9 is divided by the cube root of 125. The remainder is -
g%a'l‘ra?rms%wiai#m%%tﬂm%—

(A) 1 B) 2

(C) 3 (D) 4

The factors of ab—mn+an—bm are -

ab—mn+an-bm & THETS -

(A) (a-b) (m-n) (B) (a-m)(b*n)

(C) (a-n)(m+b) (D) (m-a)(n-b)

The angles of a triangle are (3x)°, (2x-7)° and (4x-11)°, then the value of X' is -
Biget & B ® (3%)°, (2 7)° AR (@x-11)° A x F AW &

(A) 30° (B) 20°

(C) 227 (D) 18°




115.

116.

17.

118.

114.

Sum of digits of a two digit number is 11. The given number is less than the number

obtained by interchanging the digits by 9. Then the number is -

3 oid @ e & A I B A 1 F & T g B A4 i B TAe a1 W T e
9 aidt ¥ FA T; q IT WA B

(A) 74 (B) 83

(C) 56 (D) 29

Two identical cubes each of total surface area of 6 cm? are joined end to end. The total

surface area of the cuboid so formed -

3 A o, P o g 6 ¥ o ¥, o # e R o # o B P FE gE
BERSS

(A) 12cm? (B) 18cm?

(C) 10 cm? (D) 8cm?

The number of factors of 105 is -

Fem 105 & PHEvS # den &

(A) 8 B) 3

(C) 4 (D) 6

Thevalue 3/343x 3/-27 is-

3% 327 | AA &
(A) 21 (B) -19
(C) 19 (D) -21

Find the least number which must be added to 6412 to get a perfect square. Also find its
square root.

(A) 149 and 81 (B) 249and 91
(C) 271 and 81 (D) 291and 91

= B € B "eT T FU PR 6412 & ey W T o o B B IA HEA I
f 7Iq B

(A) 149 3T 81 (B) 249 3R 91

(C) 271 AR 81 | (D) 291 3T 91




119.

120.

121.

122.

123.

The value of */16* [8 /4 is-

\16y8/a F AH &

(A) 16 (B) 8
©) 82 (D) 16v2

One-half of 1.2 X 10%is -
1.2 X 10%F 3Tl -

(A) 6.0 X 10% (B) 6.0 X 10%
(C) 0.6 X 5% (D) 1.2X 107

: 3.3
The simplest value of (1 Tﬁ) is equal to -

3
(11—0)3 1 FRETH A -
27 27
btk )
A 000 ®) “Tooo
197 27
el e
(©) “Tooo (B) " >To00

Which is the formula to find the sum of interior angles of a quadrilateral of n-sides:
n—gﬂ%ﬂgﬁﬁ%ﬁ:ﬁ"ﬁ%ﬁﬁﬁ[@%

(A) =x180° (B) ﬁ;—1x180°

-1 -2
(C) =—x180° @) -

— —

x180°

In an isosceles parallelogram, we have

(A) Pairof parallel sides as equal

(B) Pair of non-parallel sides are equal

(C) Pairof non-parallel sides are perpendicular

(D) both pair of sides are parallel and perpendicular

FfEEE TR A

(A)  TEEE el B A T B

(B) STEHRR oSl B S R B

(C) SEHRR YN B WS T B

(D) 3 St F g FARR AR T A

22

Set-C

4—-—-_-1‘



124.

125.

126.

127.

128

129.

The value of (502)? — (498)?

(502)2 — (498)? F A &

(A) 4000%10° (B) 4000 x10°

(C) 4000 x10? (D) 4000 x10~'

The product of additive inverse and multiplicative inverse of —1/3 is-
_1/3 & A9 s iR oTers SREE O @

(A) 1 B) 0

(C) ~1 (D) 173

Half a herd of deer are grazing in the field and three fourth of the remaining are playing
nearby .The rest 9 are drinking water from the pond. Find the number of the deer in the
herd.

%ﬁﬂmaﬁmﬁwmw%mmmmwamﬁﬁ%a 9 9
o A T 6 @ ¥ g B RO A den s F

(A) 72 (B) 48

(C) 96 - (D) 84

The factors of 3 + 23y — 8y’ are

3+ 23y — 8y? T THES -

(A) (1-8y) (3+y) (B) (1+8y)(3)

(C) (1-8y)(y-3) (D) (8y-1)(y+3)

In A ABC, AD bisects angle BAC and AD=DC. If angle BDA=70°, then the measurement
of angle ABD is- |

AABC & AD @I BAC & GHEHIOK HTC % & AD= DC 3R 9 BDA=70° &l H7
ABD & HM &

(A) 75° , (B) 80°

(C) 85° (D) 90°

The base of a right triangle is 8 cm and its hypotenuse is 10 cm. Its areais -
FEET B 1 oTe 8 & B & i 10 T A T Ao AR
(A) 24 cm? (B) 40 cm?

(C) 48 cm? (D) 80 cm?

23 Set-C




130.

131.

132.

133.

134.

The circumference of a circle disc is 88 cms. Then its area will be -

Mo fe%s 3t Ry 88 & & 1 sua dvwa -
(A) 616sqg.cm. (B) 88sqg.cm.
(C) 154 sq.cm. (D) None ofthese

The diagonal of a quadrilateral shaped field is 24 meter and the perpendiculars dropped
on it from the remaining opposite vertices is 8 meter and 13 meter. The area of field is?

q&a@ﬁwm%ﬂzﬁﬂmﬁmﬁo%aﬂwaﬁw%ﬁm%fﬁmﬂw%a
Ho A 13 Ho | JeM 1 5w B-

(A) 616m?2 (B) 525m2
(C) 175m2 (D) 252m2

A circle having a diameter 30 cm has a chord of 24 cm, then the distance of the chord
from its centeris....

30 #lo &M 3 g FI v 24 anﬂo%ﬁtwrrﬁara%a&ﬁ%%aﬁg&%-
(A) 9cm ' (B) 15cm
(C) 12cm (D) 13cm

The sum of heights of a certain numbers of players is 745 cms. and the mean height is
149 cm. The number of players are -

BT A HeE A AT 745 o ¥ odw T o 149 §lo B @ Raafal
B e B

(A) 8 (B) 9

(C) 5 (D) 6

A Polyhedron is having 20 vertices and 30 edges. Its number of faces are -

O TG0 & 20 9 B o 30 B & 36D wem B wew

(A) 12 | (B) 13

(C) 15 (D) 14




135.

136.

137.

138.

139.

A milk tank is in the form of cylinder whose radius is 1.5 meter and length 7 meter, the
quantity of milk stored in litres are -

T 30 N AR T R Bea 1.5 dex AR g 7 fiel 3 96 gy A A A
-

(A) 45900 (B) 49050
(C) 40950 (D) 49500

The factors of the expression (a+b)?>—4ab is -

(a+b)?— 4ab F TFES 2-

(A) (a+b)(a-b) (B) (a-b)’

(C) (a+b)y? (D) (a*+b?)

If base area of a room is 12 m?and height is 300 cm, then its volume is -

IR A B IMER H %A 12 T Ho X FAE 300 flo T Iah IMTH -
(A) 4m?2 ' (B) 12m?2

(C) 18m?2 (D) 36m?2

If 5 kg of sugar contains 2.25 X 107 crystals . Then the number of crystal present in 2 kg of
sugar are-

IR 5 el 95T # 2.25 X 107 Brwea € & 2 feel W 99 & freal @ d@e 2-
(A) 9 X103 (B) 9X10*
(C) 9 X108 ' (D) 9 X 108

6 pipes are required to fill a tank in 1 hr 20 minutes. The time required when 5 pipes of the
same type are used- :

_(A) 1hr20 minutes (B) 1 hr 32 minutes

(C) 1 hr 34 minutes (D) 1 hr36 minutes

7% U &% P 6 YEY, 1 g9 20 T A 9 B A Sl UBR B 5 UEY % H 9 A g
-

(A) 1 99 20 fFE (B) 1 gver 32 e

(C) 1 9ver 34 fiFe (D) 1 991 36 e




e

140. Arun walks around a circular track of radius 14 meter with a speed of 4 km/hr. If he takes

141.

142.

143.

144.

20 rounds of the tank, how much time he walks?
(A) 792 minutes (B) 1584 minutes
(C) 3168 minutes (D) 528 minutes

e TF AN 2% e Bedr 14 fer & 3 A AT 4 Fflo /A9 A TR § T B
ﬁﬁ%%zowwﬁﬁmﬁﬁmwm—

(A) 792 Fe (B) 1584 FFE
(C) 3168 fHe (D) 528 e

A loaded truck travels 14 km in 25 minutes . If the speed remains the same, the distance
covered in 5 hours is-

@ W g 2% 25 e § 14 PeeT Sad gf e it REX ® @ a8 5 0T H f
0 T

(A) 160 km (B) 165 km
(C) 168 km (D) 172km
5_1><82
Thevalueof —3—— 1
=10
-1_g2
5 8
W
20 2510
(A) 1024 (B) 1240
(C) 2410 (D) 1420
m . <3
57 +5 53

The value of ‘m’ in the expression : 2 =

m . 3
A o A A 5225 L5
(A) 6 (B) 7
(C) 2 (D) 0

The value of 2/3 + —4/5 + 7/15 + —11/20 is equal to -
213 +—4/5 + 7/15 + —11/20 & HH &-

(A) -1/5 (B) —4/15
(C) —13/60 (D) -7/30




146.

147.

A rational number between —=2/3 and 1/4 is -

—2/13 3% 1/4 3 = & TRET €= B

. (A) 512 (B)

(C) 5/24 (D)

The Square of a proper fraction is -

(A) Largerthan the fraction (B)
(C) Equalto the fraction (D)
oq = @ o B
(A) Br=1 | R (B)
(C) BT 3 s (D)
The valueoi-’ E is -
] '
(A) 25 (B)
o) 1+ '
© 15 (D)
1
27 & A &
_ I
(A) 25- (B)
© 1+ D
1 (D)

-5/12

-5/24

smaller than the fraction

none of these

R & &9
T ¥ B3 T

2| -

none of these

1| —

FH q Py Tl

By what least number, we divide 1536 to make this number a perfect cube?
1536 I fobq gam 3% @ fawim X % 78 of T & & 9a?

(A) 3 (B)
)9 (D)

6
8




150.

151.

152.

153.

154.

Qﬁ“T‘—“Gﬁfx*'g H A &
=
(A) 36 (B) 38
(C) 32 (D) 34
A number is first increased by 10% and then reduced by 10%, then the number -
(A) does not change (B) decreased by 1%
(C) increased by 1% (D) none of these
Rl g @ UE 10% 9o/ ST & AR R 10% &9 6 o ©, 99 99 gen §-
(A) g SR T B (B) 1% ¥ FH & i B
(C) 1% ¥ Ig S & (D) zTH & FE 7E

1
A number decreased by 27 % gives 87. The number is -

S TE 272% F HA G 67 B A 3, T e -

(A) 58 (B) 110
(C) 120 (D) 135

The cost of calculatoris Rs. 750. The sales tax charged on itis 5%. Then its selling price

is -

FICT H &M 750 B B, I W R W & 5%, O IuH [€Hd T B-
(A) 768.5 (B) 778.5

(C) 787.5 (D) 788.5

The volume of a cube whose surface area is 96 cm? is -

T STEC o Gag &% W A9%a 96 AW 9 -
(A) 16cm? (B) 96cm?®
(C) 46 cm?® (D) 64cm?

A computer was bought at Rs. 42,000. lts value depreciated at the rate of 8% per annum.

Its value after one year willbe -

Th YR F F9 Td Go 42,000 T IHH H0IA A 8% AP I F FH & RN B A @
¥ 9% IgH TA &

(A) Rs.36840 (B) Rs.34840
(C) Rs.38640 (D) Rs.36480

28 Set-C



155.

156.

157.

158.

159.

160.

The multiplication inverse of -17/19 is -

-17/19 N TS e -

(A) 17119 (B) -17119

(C) 19117 (D) -19/17

The decimal form of % is -

2L g e w -

100

(A) 0.0561 (B) 0.561

(C) 5.81 (D) 561.00

Three angles of a triangle are in the ratio 1: 2 : 3. What type of triangle is it?
(A) An equilateral triangle (B) Anisosceles triangle

(C) An obtuse angled triangle (D) Aright angled triangle

gk Bl B S AT B 1:2:3 F oua F & @ A FHE SR BB &m?
A T B (B) wifEEng Bt

(C) 3 T iyt (D) |H&HT P

If the marked price of an article of Rs. 1000 and discount of 10% is allowed on it, then its
selling price will be -

R Rl a5y @1 st 9w Wo 1000/~ ¥ SR § T 10% P ge & S ¥, o e ey
T &

(A) 800 (B) 900

(C) 1100 (D) 990

11 Ones + 11 tens + 11 hundreds equals

11 HEAF + 11 @=al + 11 §6e a0 &-

(A) 111111 (B) 144
(C) 1221 (D) 12321
The sum of exterior angles of any polygon is -

frel agYSt & e HT B ART B-

(A) 180° (B) 360°

(C) 90° (D) 60°




161.

162.

163.

164.

165.

4 years 6 months is equivalent to how many years?

(A) 3/2years (B) 9/2years

(C) 54years ' (D) none of these
4 98 6 TR R af & &R ¥

(A) 32 T (B) 9/2 T

(C) 54 A4 | (D) e T

The base of a square pyramid is -

(A) Rectangular (B) Square

(C) Triangular (D) None of these

T RftE # mEr &

(A) SITITERIT (B) @R

(C) B (D) z@H | B T
If the edges of a cube are halved, then its volume becomes -
(A) 4times : (B) 8times

(C) 1/8times (D) 3/8times

Rl W 3 BT @ O X S X 6 ST & S B
(A) 4 T (B) 8 T

(C) 1/8 T (D) 3/8 T

The range of the data 6, 14, 20, 16, 6, 5, 18,25, 15is5and..
6. 14, 20, 16, 6, 5, 18, 25, 15 a1 @ 3¢ 5 AT

(A) 25 (B) 22

(C) 29' (D) 21

Highe;t common factors (H.C.F) of 12 a®bcand 15 a’b?c’are -
12a%bc 3R 15a°?ct F HEwTH THITED &

(A) 3abc? (B) 3abZc

(C) 3abc - (D) 3a’bc




166.

167.

168.

169.

170.

(A) xe<p ()T et

When two quantities x and y are in direct proportion then -

oE & WER ¢ o v WY e ¥ At R A

‘—ﬁ —

(C) x=vy (D 7=

=

The point (0, 5) lie on
(A) +ve x-axis (B) -ve x-axis
(C) +ve y-axis (D) -vey-axis

g (0, 5) =1 =M

(A) +ve X-318 (B) -ve x-31%

(C) +ve y-31&1 (D) -ve y-31&

A number N is divisible by 9, if the sum of its digits is divisible by -

(A) 2 (B) 6

(C) 3 (D) none ofthese

P5 F& N, 9 | i &t ®; aft oed ot & AW e & o-
(A) 2 (B) 6

(C) 3 (D) ™ & FF &

Find the compound interest on Rs. 12600 for two years as 10 % per annum compounded
annually.

To 12600 W 2 T4 FH =shacl AT S B4 IS AT 10 % U a9 i 3 F s =9 §
AT 2t 8 '
(A) Rs.2646 (B) Rs.4276

(C) Rs.4176 (D) Rs.2276

Aman purchases 8 dozen of eggs for Rs. 480, out of which 8 eggs were found broken. At
what rate he should sell eggs so that he gets 10 % profit?

(A) Rs.55 (B) Rs.6

(C) Rs.6.5 (D) none ofthese

% T 8 oM &US 480 Bo F Tiwa ¢ Fred & 8 o2 T g 7 ¥ 10% AW 3 Riw
I B & g o2 d= A

(A) 5.5 %o (B) 6 %o

(C) 6.5 %o (D) ¥ & F:§
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171. The cost of a flower vase is Rs. 120. If a shopkeeper sells itat a loss of 10%, find the
price at which itis sold?

(A) Rs.180 (B) Rs.188
(C) Rs.108 (D) Rs. 168

Wﬁaﬂsﬁa@uoso%laﬁymwta%m%aﬁmm%amﬁm@
I & |

5. 13

172. Evaluate: TOF F- 3%+1_4
(A) 4 B) 8
(C) 6 D) 12

173. The adjacent angles of a parallelogram have equai measure. Find the measure of each
of the angles of the parallelogram

Wa@%mmwmw%nmwa@@%wﬁwmmmn
(A) 45° (B) 60°
(C) 75° (D) 90°

174. TapAcanfillatankin 8 hours and tap B can empty the tank in 12 hours. The time taken to
fill the empty tank if both of them are opened together is -

(A) 12hrs (B) 18hrs
(C) 24 hrs (D) 30hrs

WA,ﬁﬂ%ﬁ?[Bﬂ“ﬁﬁﬂ?W%ﬁﬁBGﬁéiﬁfiﬁ12&“€Tﬁ?§ﬁﬂ${m%l?'ﬁ'f
H&'ﬁﬂ%%w@aﬁwaﬁﬁﬁmﬁﬁmwm-

(A) 12 "9 (B) 18 ¥v¢
(C) 24 T (D) 30 ¥7¢
175. Solve : & B 2T"(+1=—;+3

(A)30/17 (B) 10
(C) 23 (D) 5

32 Set-C

—



176.

177.

178.

If DELHI is coded as 73541 and CALCUTTA as 82589662, then how can CALICUT be
coded?

IR DELHI 1 s 73541 ¥ T CALCUTTA & His 82589662 © & Il #Is Wl H
CALICUT & IS a1 & ?

(A) 5279431 (B) 5978013

(C) 8251896 (D) 8543691

Pointing to the lady on the platform, Manju said, “She is the sister of the father of my
mother’s son.” Who is the lady to Manju?

(A) Mother (B) Sister

(C) Aunt (D) Neice

T ¥ Qewr W O AR @ R B ge aae Vae ¥ A & @ B e A7 9o 8
95 Hfea #9 B B 8 ¢

(A) = (B) =&

(C) g (D) it

How many squares are there in the above figure?

IR 9 W R F g R a2 ?
(A) 10 B) 11
(C) 13 (D) 14

Directions (Q Nos.179 - 183) in the questions given below, a series is given in which

one number / letter missing. Choose the correct alternative from the given ones
that will complete the series.

P (e W 179 | 183 ) e el F R T o7t /ait A FH S H AW F WA

179.

& e (7) Rt 3t o R T foeedt # & o g Rhed @it o e T & st
ELFA, GLHA, ILJA, 2, MLNA

(A) OLPA (B) KLMA
(C) LLMA (D) KLLA




-

180.

181.

182.

183.

184.

185.

SCD, TEF, UGH, 7, WKL

(A) CMN @ w
(C)VlJ (D) WJ
15, 39, 74, 122, ?,265

(A) 151 (B) 165
(C) 171 (D) 185
18217

(A) 41 ®) 64
(C) 35 (D) 61
48,82,44,77,72,2 i
(A) 36 ®) 40
(C) 76 (D) 70

If Police is called teacher, teacher is called politician, politician is called Doctor, doctor
is called lawyer and lawyer is called surgeon, then who will arrest the criminals?

(A) police (B) lawyer
(C) teacher (D) doctor

uﬁgﬁw%‘ramm%%%,mzﬁmﬁam%,mﬁmﬁwmaw
ﬁaﬁa@-aﬁaﬁmw,ﬁrmﬁﬁﬂﬁwﬁm

(A) gTE (B) Fobid
(C) ST&ATIH | (D) EtaeX
Select the missing number from the given responses -

ﬁﬂm?ﬁﬁgﬁmw(?)ﬁ%aﬁmm/mﬁﬁ?
iy g 4 7
(e = A it )
5 3 5
(A) 57 (B) 53

(C) 105 (D) 111
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Directions (Q Nos. 186 - 188) in each of the following questions What should come in

place of question mark?

ﬁ%arz(srﬁﬁw186%188ﬁ)ﬁrﬁfﬁﬁqﬂamfﬁ(?)%a%wzﬁﬁﬁﬂj@wm?

186. 417 :80::20:7?

(A) 57 (B) 69 (C) 81 (D) 93
187. BiGR11:7?

(A) 144 (B) 169 (C) 121 (D) 124
188. 123:4::726:7

(A) 23 (B) 26 (C)14 (D) 12

Directions (Q Nos.189 — 193) in each of the following questions, Find the odd words/

letters/ numbers pair from the given alternatives.

Fordar: (qﬁﬁwmg%193%)%?&%33@/31@?@@51@9&6%%%1

189. (A)gallon (B) tonne
(C) quintal (D) kilogram
(A) T B) o
(C) Fpdeat (D) fepeiEmH
190. (A) 120 - 560 (B) 91-299
(C) 78 — 169 (D) 104-429
191. (A) ring (B) tyre
(C) plate (D) bangle
(A) fom (B) &
. O=e (0) =
192. (A) eyes (B) ears
(C) throat (D) skin
(A) 3TE (8) @
(C) e (D) =
193. (A) DFIMR (B) CEHLQ

(C) GILPU (D) HIMPT

A




%

Directions (Q Nos.194 - 196) in the questions given below, Select the related letters/

words/numbers from the given alternatives.
Py —(we GE 194 | 196 aiﬁ)amﬂéaar@%aﬁmﬂ/mﬁ/aﬁﬁﬁmﬁ?

194. Jewellery : Gold :: Furniture : ?

(A) Table (B) Tree (C) Wood (D) Paint.
D : Mee = FEd 7
(A) 5 (B) T8 (C) TS (D) &=

195. Rig:Ofd::met:?
(A) Jbg (B) ker (C) Jer (D) kbq

196. 49:64: 144:?
(A) 186 (B) 121 (C) 256 (D) 169

Directions (Q Nos.197 —199) In the questions given below, Select the one which is
different from the other three responses.

ﬁ%ﬂ—(ﬂﬁé@l197@199%)Wﬁﬁ/ﬁﬁ@ﬁﬁ8{6ﬁﬁﬁ%?

197. (A) Petrol - Car (B) Electricity — Television
(C) Ink—Pen (D) Dust — vacuum cleaner
(A) TR (B) FIRrEIRA- Aot
(C) ZH-U (D) sE-IFgH AR
198. (A) Light—Heavy (B) Crime —Blame
(C) Short—Long ' (D) Man—Woman
(A) e (B) FEH-=H
(C) SMe-=T (D) F=-ame
199. (A) 343 (B) 512
(C) 729 (D) 144

200. Ifin certain code HYDROGEN is written as JCJZYSSD, then how can ANTIMONY be
written in that code?

af* HYDROGEN & IS JCJZYSSD 3, & I Fie W § ANTIMONY e T B |

(A) CPVKOQPA (B) CRZQWABO

(C) ERXMQSRC (D) GTZOSUTE
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